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Mopgn = 2, Ciy x @y x T, x10°/ B (8)
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AR ISR, mg/m?;
Qi3 i Fys SR § KB B ERERE FFHAUR, mi/hs
Lo i e o § KW BRI B 1 B SRR AT I,

By ) 556 R A 05 SR R IR 7 7K T 30— B 1 35

KU ORI KT CHVRE) IS 8 R IE 3 A= S P IR 0.75, STy B
HY 0.65.

SR G 3L ﬁL?J}':%Al»J HFISCE A R S BOA 075 e P 1 SR BE Bk
MFHAR. BiE T a2z,

AT H NN SEBRHE A% BG5S Y 2R RN — R AK PR BEHE S A A 3 iR
AEENHESE (S E2EN AR, KVEEHES @R LIS R 500 e /K Ve B HE
SEHE N 0.0279t, 1#EZENLHFS A BRAY FIIRE RN 13.4mg/m3sLPRIEAT
14h, 2800 TEN LSS BRI - YW FE N 12.8mg/meSEfRiaqT 6h. 3t EHLHES

Ta AL - YR FE A 13.5 mg/m3sE BRIz 4T 3h.

THERI1S, — H Rk ) sE bR AR E N -
M KV BEHER T CFURiY) =0.0279/0.65= 0.0429t

M 1L HLHERL T CBIRIY) =13.4X 23824 X 14 X 10°/0.65= 0.0069t
M2#E8 B HLHERR T CBRIY) =12.8 X 23240 X6 X 10°/0.65= 0.0027t
M3#ELEHLHERR T CBRiY) = 13.5X 25165 X 3 X 10°/0.65= 0.0016t

M 7KJE EE+M L3 H1=0.0429+0.0069+0.0027+ 0.0016+0=0.0541t
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i=]
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AR ISR, mg/m?;
Qi3 i Fys SR § KB B ERERE FFHAUR, mi/hs
Lo i e o § KW BRI B 1 B SRR AT I,

By ) 556 R A 05 SR R IR 7 7K T 30— B 1 35

REHEBCR I LEAE: KVE CRVRL) i3 HES B AL IE 7 A2 7 R e A PR 0.75, BBy H 3
HL0.65.

SR G 3L ﬁL?J}':%Al»J HFISCE A R S BOA 075 e P 1 SR BE Bk
MFHAR. BiE T a2z,

AR H N SEBRHE R A% BG5S Y 2R RN — R AK R BEHES M 3 iR
AEENHESE (WS E2EN AR, KVEEHES B LIS R 500 e K Ve B HE
S EHE N 0.1375t, 1#EZENLHFS A BRY FIIRE N 13.4mg/m3sLPRIZ T
39h 286 NS S BRI E N 12.8mg/meSEBRriz4T 15h. 3#ELEHIHES

T UKL YT 2R FE Ol 13.5 mg/m3sEFRig 4T 16h.

TFERIAS, Rk ) sE bR AR E N -
M K Ve BEHER T (k4 ) =0.1375/0.65=0.2116t

M1 HLHERL T CBRIY) =13.4X 23824 X 39X 10°/0.65= 0.0192t
M2# LB HLHERR T CBRIY) =12.8 X 23240 X 15 X 10°/0.65= 0.0069t
M3#ELEHLHERL T CBRIY) = 13.5X 25165 X 16 X 10°/0.65= 0.0084t

M 7KJEEE+M L3 H1=0.2116+0.0192+0.0069+ 0.0084+0=0.2461t
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Mopgn = 2, Ciy x @y x T, x10°/ B (8)
i=]
b €, —8 i KITRUE AR SR 5 R K 14) 35 ) KR
AR ISR, mg/m?;
Qi3 i Fys SR § KB B ERERE FFHAUR, mi/hs
Lo i e o § KW BRI B 1 B SRR AT I,

By ) 556 R A 05 SR R IR 7 7K T 30— B 1 35

KU ORI KT CHVRE) IS 8 R IE 3 A= S P IR 0.75, STy B
HY 0.65.

SR G 3L ﬁL?J}':%Al»J HFISCE A R S BOA 075 e P 1 SR BE Bk
MFHAR. BiE T a2z,

AT H NN SEBRHE A% BG5S Y 2R RN — R AK PR BEHE S A A 3 iR
AEENHESE (WS E2EN AR, KVEEHES B LIS R 500 e K Ve B HE
SEHEN 0.1993t, 1#EZENLHFSABRAY IR E N 13.4mg/m3sLPRIgAT
69h 206 NS G BRI E N 12.8mg/meSEBRiz 4T 27h. 3#ELEHIHES

T R YT 2R FE O 13.5 mg/m3sEFRig 4T 23h.

TERIAS, = H O Rk ) sE bR AR E A -
M KR BEHER T CFRiY) =0.1993/0.65= 0.3066t

M1#ELEHLHERL T CBIRIY) =13.4X 23824 X 69 X 10°/0.65= 0.0339t
M2#EL B HLHERR T CBRIY) =12.8 X 23240 X 27 X 10°/0.65= 0.0124t
M3#ELEHLHERR T CBRiY) = 13.5X 25165 X 23 X 10°/0.65=0.012t

M 7KJEEE+M L2 H1=0.3066+0.0339+0.0124+ 0.012+0=0.3649t



